TOOL rlOLDER SYSTEM

SCAT:--




SCAT/ER

et

Wi
, TH 2007 07543
BAT B0, ROONCCEETI

=
ey

=i *

& Can clamp straight cutters and tools.

# Tha pre-balance can reach G6.3 10,000 rpm, without an
iNSPECion repsn

# The balancing grade and revolution can be done acconding to
CUSlomers request bul the additional charge s neseded

fnoRudsudnna) 1anlwyadl ada) Lert Pi

SCAT/ER

boon) Steel

i

W PAT

e, BT
W OPAT ML N
AT ML 312ETES

£ A PAT NG 200439800

M PAT MO ALIHEXIZ36ELE

M PAT MG A INEEI00NES5T

i PAT e S

TA PAT MO TH 2007 DF432 ¥
T PAT B PO T

Part.
s
:
| II." W
e g

& Can clamp siraight cutters and fooks
& The pre-balance can reach GE6.3 10,000 rpm, without an

INSpRCtion repart,
& The balancing grade and revolution can be done according o
CUSMers request but the additional changs is needead,

INCHES
MODEL NO. TYPE - Iy L I di ds T ‘ RANGE "ﬁ'&"r
43.122.16.278 | SCAT40 x ER18A - 2.TG" 5447 1.28 1.50
43 12216 400 SCATA0 x ER16A - 4" BEAT | 2.14 1102 14 Mi0 x 159 0.0156 ~ 0,375 1.10
43122 168600 SCATAD x ER18A - B" S887 | 414 1.55
_43.122.16.800 | SCAT40x ER16A-8" | 10.687| 6.29 185 |
4312220278 | SCATAD x ER20A - 2,76 G447 | 1.28 ] 1.29
43 12220400 SCATAD x ER206, = 4" BEB8T | 2.37 1.338 1.3 M1Zx1.75F | 0.0625- 0.500 1.65
4312220600 | SCAT4D x ER20A - 6" 8.687 | 4.33 ! 1.85
43.122.25.276 SCAT40 x ER25 - 2.76° 5447 | 1.38 1.76 1.35
4312225400 | SCATAD x ER25 - 4" g.eEF | 257 1654 0.0625 ~ 0,625 1.70
43122, 25.600 SCAT4AD x ER25 -B" 68T | 462 1.65 L.
43.122.25.800 SCAT40 x ER25 - 8" 10687 | B.62 2,95
43 122 32 276 SCATA0 x ER32 - 2. 767 5447 | 1.38 16 x 2.0F 1.16
4312232300 | SCAT40 x ER32 - 3" 5687 | 162 150
43.122,32.400 | SCAT40 x ER32Z - 4" G687 | 262 | 1868 | 175 0.1250~0.750 | 175
4312232 600 SCAT40 x ER32 - B* 8687 | 5 215
43 122 32 800 SCAT40 x ER32 - B8* 10687 | 662 270
43122 40315 SCATAD x ER4D - 3.15° EE3T | 1.72 1.75 1.25
4312240400 SCAT40 x ER4Q - 4" B.6BT | 248 2.48 20 x 2 .0F 01250 ~ 1.000 1.80
43.122.40.600 | SCAT40 x ER4D - 6" 8687 | 448 - 2.00
43 122,50 400 SCAT40 x ERS0 - 4* S5H3T | 248 3.07 252 |M24x20F | 0.2500-=1.250 2 65

INCHES

MODEL NO. TYPE - I L | & | & | T e |

~ 44.12216300 | SCATSOxXER1BA-3" | 7 | 143 3 T | 405
44122 16400 | SCATS0 x ER1BA -4 8 | 207 4.20
4412218500 | SCATS0 x ER16A- 5" 9 | 307 |1.102| 1.1 | Miox15P | 0.0186~-0.375 | 4.30
4412216600 | SCATS0 x ER16A- 6" 10 | 4.29 4.40
4412216800 | SCATS0 x ER16A - 8" 12 | 6.15 4 50
4412220400 | SCATS0 x ER20A - 47 B | zo07 4.20
4412220600 | SCATS0 x ER20A - 6" 10 | 415 [1339] 1.34 | M12x1.75F | 00625~0500 | 445
44 122 20,800 SCATSO x ER20A - 8% 12 6,07 4 B
4412225400 | SCATS0 x ERZ5 - 4" B | 245 4.15
44 122.25.600 SCATS0 x ER25 - B 10 392 |1.654| 165 00625 ~ 0.625 4.50
4412225800 | SCATS0 x ER25 - 8" 12 | 591 e e 470
44,122 32 400 SCATS0 x ER32 - &° ] £.15 4,35
4412232600 | SCATS0 x ER32 - 6" 10 | 4.15 |1.968| 196 0.1250~0750 | 460
4412232800 | SCATS0 x ER32. 8" 12 | 607 4.90
4412240400 | SCATSO x ER40 - 4" 8 | 235 425
4412240600 | SCATS0 x ER40 - 6" 10 | 443 | 248 | 236 | M20x20P | 0.1250-1.000 | 480
44.122.40.800 | SCATS0 x ER40 - 8" 12 | 643 510
4412250400 | SCATSO x ER50 - 4" 8 | 262 4.85
4412250600 | SCATS0 x ER50- 6" TRRTTH | oot o L T




P

| fnoAudbudnnal 1aalwyadl adal Lert, Piboon Steel Ltd!, Part,

SCAT/ER SCAT / PNER
7 f . - |
W 5 i
s b 3
I 1
—— i | ! | . —c .
T PAT MO
o o L -
B
LR PAT MO NS
W PAT MO
LM PAT MO JLIX
B e » Runoul accuracy: within 3pm
PAT B0, MODOOSEET | » The gauge line of PMER callet is shorber, so PNER collet sits
wall in the PNER holder belter than conventional ER collst
chucks, which improves the overall runout accuracy of PNER
& The pre-balance can reach G&.3 10,000 rpm, without an collet chuck and etability of machining.
inspection repor o Standard revolulion: G2.5 25,000mpm, with an inspection
& The balancing grade and ravolution can be dons raport.
according o customer's request bul the additional
charge is neaded,
NCHES
SIZE WEIGHT
MODEL NO. TYPE-h L ] dy th T RANGE (KGS)
43 273,16 250 SCATAD x PNER1G6 -2.5% | 5187 | 1.08 1.05
43 273,16 400 SCAT40 x PNER1E - 47 6687 | 243 | 118 | 118 | M10x 1.5P 0.125 - 0375 135
43 273.16.500 SCAT40 x PNER1E - &7 TBET | 343 1.65
43 273.20.300 SCAT40 x PNER20 - 37 5884 1.5 125 | 126 | sz2x1.78p 0,126 = 0.600 125
43.273.20 400 SCAT40 x PNER20 - 47 G6BHY | 25 : : : : ' 1.85
43 273.25 400 SCAT40 = PNER2S - 47 66T | 254 | 157 | 157 0.125 - 0625 1.85
43 273.32 300 SCAT40 x PNER32 - 3" 8B4 | 1.51 | 118
43.273.32 400 SCAT40 x PNER3Z - 47 G.BHT | 252 M18 = 2.0P | 1.50
-~ 196 | 196 0.125~0.750 |
INCHES 43 273.32 500 SCAT4D x PNERIZ - & T.BHT | 3.51 | 1.75
BIZE WEIGHT 43 273.32 600 SCAT40 x PNER32 - 6" BBHT | 4.51 2.15
MODEL NO TYPE - L Is s e T
____________________ | b ' el RANGE (KGS) 43.273.40.400 SCAT40 x PNER40 - 4" | 6687 | 262 | 248 | 248 | M20x20P | 0.250 ~ 1.000 1.80
43.123.11.275 | SCAT40 x ER11M - 2.75° 5447 | 1175 1.1 44 273.16.400 SCATED x PNER1E - 47 B 203 4.05
. 063 | 059 |MEx1.0P | 0.0625~0.250 5 118 | 1.18 | MI0x1.5P | 0.125~0.375
4312311400 | SCATS0 x ER1IM - 47 B.EHT | 2228 1.2 44 273 16 600 SCATSD x PNER1E - &” 10 403 4.40
43 123.16.276 | SCAT40 x ER16M - 2.76° 5447 | 1.322 1.2 44 2735.20.400 SCATED x PNERZ0 - 47 B 2.4 420
5 087 | 083 | M10x 1.5F | D.D625 - 0375 - 125 | 1.25 | M1Z2x1.75P 0,125 - 0500 —————
4312316400 | SCAT4D x ER16M - 4° B.687 | 2425 13 44 273.20.800 SCATS0 x PNER20 - 6" 10 4.14 4.45
43 1235, F) T4 M= 2.78" 447 1 44 Z2o4 T. - 4" |
312320276 | BCAT40 x ER20M - 2.76 1.333 1102! 1.08 | M12x 1.750 | 0.0625 ~ 0.500 F 27325400 SCATS0 x PNERZS - 4 B 2.38 157 | 1.57 0.125 ~ 0,625 415
4312320400 | SCAT4D x ER20M - 4° 6687 | 2197 1.5 44 27325800 SCATS0 x PNER2S - 6" 10 438 M6 x 2.0P 4.50
44.123,16.400 | SCATS0 x ER16M - 4° d 1.92r 3.4 44 2735.32.400 SCATS0 x PNER3Z - 47 g 242 : 435
087 | 0.83 | M10x 1.5P | DD625 - 0375 196 | 1.98 D125 =780 ——
44 12316600 | SCATS0 x ER16M - &° 1[4 4004 4.0 44 273.32 600 SCATS0 x PNER32 - &7 10 442 4 80
44 12320400 | SCATS0 x ER20M - 4° ] 2127 4.2 44 273,40 400 SCATS0 x PNER4D - 47 B 248 5.26
1.102| 1.08 | M12 x 1.76F | 0.0625 ~ 0.500 248 | 248 | M20Dx 2.0F 0250 = 1000 ————
44.123,20.600 | SCATS0 x ER20M - &° 10 4,127 52 44, 273,40 600 SCATSH0 x PNERAD - 6° 10 465 6.36

FRESET SCREW

(I

e

oz U



SCAT

b1

-u—ll—-'

udaudnna) 1aAlwyadl atal Lert Piboon) Steell Ltd., Part:

& High accurate working process. Even though

using prolonged drill, the concentrcity & stil within

SCAT / FMA

——

s d1 lolerance : hE.
» Todarance of 7124 taper : AT3.
« The pre-balance can reach GE.3 2,000 rpm, without an
inspection repaor.
= The balancing grade and revalution can be done
according 1o cusiomes’s request bul the sdditional

0.015mm.
INCHES
MODEL NO. TYPE - b L ks I d ds W
43.465.01.160 |SCATA0 x MTA1 - 1.6 4.287 2,208 0.12 1 0.475 1.30
43 46502200 | SCATA0 x MTA2 - 2° 4,687 2638 0.32 1.25 07 1.50
_43485.03.275 | SCATAD x MTAS - 2.78" 5437 | 3307 1.29 1558 0.938 1.4
43.485.04.375 | SCATA0 x MTA4 - 3.75" 6.437 4.213 237 1.75 1.23 120
44 465.01.200 | SCATS0 x MTA1 - 2° 2.206 0.13 1 0.475 4.05
44 485.02.200 | SCATS0 x MTA2 - 2° 8 2.638 0.5 1.25 0.7 4.40
44.465.03.250 | SCATS0 x MTA3 - 2.5° . _a.aor 1 1.53 0.938 4.50
44 485.04.330 | SCATS0 x MTA4 - 3.3¢ 7.3 4213 1.8 1.75 1.23 4.80
44 465.05410 | SCATS0 x MTAS - 4.1° 8.1 5.236 2 59 7 48 1.748 5.15

change is neadad.
INCHES
WEIGHT
MODEL NO. TYPE di - I L I I ds b | K K | kas)

43.151.64.137 | SCAT40 x FMA4" - 1.37" | 4.744 1.50
43.151.64.400 | SCAT40 x FMA3/4" - 47 7.374 0512 | 0.925 | 1.69 0.3125 [ 1.70
43.151.64.600 | SCAT40 x FMA3/4" - 6 8374 Sen 1.90
43.151.68.206 | SCAT40 x FMA1" - 2.06" 5.434 1.50
43.151.68.400 | SCAT40 x FMA1" - 4" 7.374 | 0.687 124 | 219 0375 | 255

| 43.151.68.600 | SCAT40 x FMA1" - 6" 9.374 S | 278
43.151.72.221 | SCAT40 x FMA1-14"- 221" | 5584 2.60
43.151.72.4D0 | SCAT40 x FMA1-14"-4" | 7.374 1614 | 275 | 026 | o5 [ 275
43.151.T2.600 | SCAT40 x FMA1-14"- & | 9.374 2.95
43.151.77.221 | SCAT40 x FMA1-1/2* - 2.21" | 5.584 270

4318477400 | SCATI0 xFMASAR" -4 | Toar (] 000 [RIESINSREN] 010 RRESN 295 |
44.151.684.150 | SCATS0 x FMAZ/4" - 1.5 6.187 4,20
44.151.64.350 | SCAT50 x FMA34" -3.5" | 8.187 0512 | 0.925 | 1.89 0.3125 | 4.40
44.151.64.550 | SCATS0 x FMA3/" - 5.6 10.187 0.188 4,60
44.151.68.200 | SCAT50 x FMA1" - 2" 6687 4.50
44.151.68.400 | SCAT50 x FMA1" - 4" 8687 | o oo 124 | 219 0375 | 470
44.151.68.600 | SCAT50 x FMA1" - 6" 10.687 4.90
44.151.72.150 | SCATS0 x FMA1-14"- 15" | 6.187 0.63 4,70
44.151.72.350 | SCAT50 x FMA1-14"- 35" | 8.187 4.80
44.151.72.500 | SCATS0 x FMA1-14°- 5 | @887 il foenll Rcall el
44.151.72.600 | SCAT50 x FMA1-1/4"- 6" | 10.687 5.10
44.151.77.240 | SCATS0 x FMA1-1/2"-2.4° | 7.388 5.00
44 151.77.400 | SCATS0 x FMA1-1/2" - 4° B.988 1.762 | 3.81 | 0.349 | 0625 5.20
44.151.77.600 | SCATS0 x FMA1-1/2 -6 | 10.888 | 0.938 | 0.807 5.40
44.151.86.240 | SCATS0 x FMAZ" - 2.4° 7.588 5,40
44.151.86.400 | SCAT50 x FMA2" - 4" B.988 il Bl Roal Ul

PULL STUC




fnotiudbudnna) 1aAlwyad atia) Lert Piboon Steel Litd.,, Part:

SCAT / SBL SCAT /MLD

T s
Wf/ﬁ%/ﬁ .
[l [ 1 . Il R &la
S 1N |
B | =
e h
H 5 i i
- L -
& Every tool holder reaches the revolution of G2.5 R
e e 25000 rpm, with an inspection report. B e L
e » The balancing grade and revolution can be done
according to custamer's request but the additional
charge is needed. « There is @ special design for the shots of internal hoke, it » High stability of the precision and aasy for combination
prevents the cutling tools from slipping and intreases the Thera won't be a siuaton of vibraton during the high
clamping power, speed processing ar big cutting depth
o The bddy of tha ool holdar is thick, so it has good & Good clamping powar, The damping power of MLD32
INCHES clamping power. It adopts the needie beanng design fo type is around 1000 N-m
['NE prevent the slipping. The operation is convenient and « Run-out: Within 0.001~0.005mm,
MODEL NO. TYPE - I L Ia di ds T EI:EE IGHT agsy. = Concantricity: 0.02mm
RAN (KGS) = After locking the cutting tood (The folerance of the cutting = The pre-balancs can reach G6E.3 B,.000RFM, with an
43.648.06.300 | SCAT40 x SBLE - & 5687 | 1.00 0.65 1.00 ;';':" mﬂ?‘: E.:?} MLMEL“ = Wmtﬂﬂnrgﬂﬁ'i:ﬂh“ﬂé: mlf i:h:lfflﬂﬁ fﬂﬂrgft- T;;E' Dal;ﬁtil‘llp grade HT fﬂﬂl:ci&ﬂ _rhzﬂﬂi
too A acco est but t
43.648.06.400 | SCATA0 x SBLE - 4° 6687 | 212 | 0551 | 074 |MBx10P | 0125-025 | 125 it prvet A bSGG Iece s dasrina i Al ottt o e S "
43164806600 | SCATA0 x SALE - & B.G6aT 417 0.9 1.20 Also, rigidity and dust-proof Tunction is improved.
4364812250 | SCAT40 x SBL1Z - 2.5° 5.187 0.8z 115 1.46 « Whean using MLD sealed cap, the coolant # The design of coolant grooves IMproves
43,648 12400 | SCAT40 x SBL1Z - 47 6687 | 223 1.024 1.26 Mi0x 1.6 | 0.125~0.50 1.20 fuid discharges from the cutting tool.t's thir cosaling and metal chips removal
436848 12800 | SCAT40 x SBL12 - 6 8687 4.49 1.40 1.45 good f:ll' heat dissipation and metal chips capakbility,
4364820250 | SCAT40 x SBLZ0 - 2.5 5187 | 0.98 1.46 1.20 i
43.646.20.400 | SCAT40 x SBL20 - 4" 6687 | 255 1.378 1.6 MI2x1.75P | 0.125~0.T5 1.60 INCHES
4364820600 | SCAT40 x SBL20 - & B.6a7 | 462 - 1.50 WEIGHT
MODEL NO. TYPE L | Iz T dh d:
4364825325 | SCAT40x SBL25-325" | 5837 | 186 | 173 o e e R ; (KGS)
4364625400 | SCATA0 x SBL2S - 4" 6.687 | 2.588 1.75 k o : ; 1.60 43.463G.58.315 SCATA0 x MLD1/2" - 3.15° 5837 | 3.15 ] 1.575 M1Z x 1 758 0.5 1.6854 18
44.648,06.350 | SCATS0 x SBLE - 3.5° 75 | 158 0.71 1.70 :g 1‘2% gl E’ﬂ gcc-ﬂ%g x :tgg:ih " if‘ g‘ 153; 3‘-15 1.969 0625 | 1850 :-g
44 648.06.450 | SCATS0 x SBLE - 4.5" B5 | 238 | 0551 08 |MBx10P | 0125~025 | 1.50 43, 483G 64 800 | SCAT40 x MDA & agar | & | 28 075 | 2.224 X
44 648,06 600 EEATSG_E_EEILE -8 10 3.9 {_ZI_?_? il 1 _ 1.70 43 463G 68 400 SCAT40 = MLD1" - 4° 6.687 4 2165 58" - 11 1 2.3682 2.0
44 B48 12 250 | SCATS0 x SAL12 - 25" B.§ 093 1.11 4.00 43 46306, T2 420 SCATAD x MLD1-1/4" - 4,2 6887 | 4.2 5 768 128 3 745 2.5
- e e e e e e o e e - —— S e — 43.4Em.?2 Em SEAT‘G x MLD1 -‘lrill — 6- E.H? E . . 2.?
44 648 12 450 | SCATSD x SBL12 - 4.5° 8.5 2.7Th 1.024 1.27 M0 x 1.5P 0.125 -~ 0.50 4.10
= - . 44 463558350 SCATSD » MLD1/2" - 3.5" 75 55 1578 M2 x 1.T5P 0.5 1654 2.5
e o B2 2 R L . bat 44.463G.61.350 | SCATS0 x MLDS/E" - 3.5" ; = [1.069 : 0625 | 1880 | 27
44 648 20250 | SCATS0D x 5BL20 - 2.5° 6.5 0.75 1.44 4.30 d4d 463G 64 400 SCATSD » MLD3M" - 4° 2] 4 2,38 5" - 11 0.75 2 994 2.5
44 64820 450 | SCATS0 x SBL20 - 4.5 8.5 275 | 1378 162 |MIZx175P | 0.125~075 | 4.60 44.463G.64 600 | SCATS0 x MLD3/4" - 6 10 6 | 244 ; ' 28
UNUNUN VS S —— — I S — -_ — o ST I A - RS ETTNE AR M_#_ESG-EE*M Emm ® MLD1'I L 4! ﬂ 4 2_155 EIIE"' 11 1 E.ME 29
44 B4R, 20600 | SCATS0 x 5BLZ0 -6 10 412 1.74 4,70
= 44 453G T2 413 SCATSD x MLD1-1/4" - 413" 813 [4.13 1"-8 27
4464825275 | SCATS0xSBL25-275" | 675 | 133 | 168 4.40 34 4690 72 500 | SCATE0 x MLD 14" - & 10 1 & |27 —ma-n 125 | 2795 30
— 1575 |MGx20P | 0.125~1.00 : L :
44 648 25450 | SCATE0 < SBL25 - 4 § 8.5 3.8 1.84 4 860




fnotiudbudnna) 1aAlwyad atia) Lert Piboon Steel Litd.,, Part:

SCAT /SLN SCAT / SKS

"
A

€

& Runouwt is within Sy (40 langth).

s SKS Collet taper : 4°, increasing holding power,
concanlricity and rgidily.

# Every tool holder reaches revolubion of G2.5 25 000 rprm,
with an inspection repon

» The balancing grade and revalution can be done according
fo customer's request but the additional charge is needed.

& Intermal hole tolerance | HE.

& The pre-balance can reach GE&.3 8 000 rpm, withow an
inspaclion repor

# The balancing grade and revalulicn can be done
according bo customar's request but the addilsonal

charge is nesdad,
INCHES
INCHES MODEL NO. TYPE - h L Is d & | & T “;Eg.";'
WEIGHT .
MODEL NO. TYPE - Ik L I h L ls da T 43.658.08.350 | SCAT40 x SKS6 - 3.5 6.187 | 142 1.05
(KES) e = S sesr Tiga ] 012570250 | 0708 | 07 | MBx1.25P e
43.653.52.238 | SCAT40 x SLN1/B"-2.375" | 5062 | 0.37 0787 | 0B ogg LO¥-32| 115 43'55& 10.350 o : s.rcsm- e E' e 1'52 1 'M
43.653.53.250 | SCAT40 x SLN3/16"-25" | 5.187 | 0.562 0884 | 073 ' B#-32 | 1.20 ' . . s : ' 0.125~0.375 | 1.181 | 1.08 | M12x 1.75P :
43.653,54.300 | SCAT40 x SLN1/4" - 3° i 13p |28 | 078 |va-28] 1.5 wna bl inal] ecatast it ool ) st R BER
43.653.55.300 | SCATA0 x SLN5/16" - 3 : 111 | 088 |6/16-24| 1.20 43.058.13.350 | SCATA0xSKS13-3.5" | 6187 | 2 | .. i |qa7e!| 408 | mizxi7sp |95
43 653.56.300 | SCAT40 x SLN3/B" - 3° 5667 |04 1536 | 108 | 1 |am-24| 120 43,658 13.400 | SCAT40 x SKS13 - 4 6.6A7 | 25 1.65
43.653,61.300 | SCAT40 x SLNG/@E" - 3° 0.937 1.85 1.45 16 |1/2-20( 150 4365816400 | SCAT4D x SKS16 - 4° 6.687 253 : ' : ; 2.10
43.653.64.300 | SCAT40 x SLNI/4" - 3" 1,65 43,658 20350 | SCAT40 x SKS20-35" | 6187 | 2.04 1,35
1 1020 | 242 175 -
4365364 350 | SCAT40 x SLN3/M" - 3 5" R EB-18| 1.70 43.658.20.400 | SCAT40 x SKS20 - 4 66687 | 254 RSN | TR | T | |G 2.20
43.653.66.350 | SCAT40 x SLNT/E" - 3.5 ' 1063 | 0B75 | 236 | 206 1.88 255 43.650.25.350 | SCAT40 xSKS25-35" | 6.187 | 208 135
43.853.68.400 | SCAT40 x SLN1"-4" B.687 2.5 2 2 80 43 65825400 | SCATA0 x SKS25 - 4° Boar | g | LA | SR AR | R AR 220
43.653.72.460 | SCAT40 x SLN1-1/4" - 46" | 7.287 | 1.125 1 256 3.12 g |34-16 [ 280 44.658.06.350 | SCATS0 x SKS6 - 3.5- 7 s 172 260
43 653.77 450 | SCAT40 x SLN1-1/2" - 4.5* | 7.187 3.02 3.20 44.655.06.400 | SCATS0 x SKS6 - 4" 8 T et Bl U 200
54, SCA 5 4" : . - :
::'Eﬁ g; :Eg smlgg - z:::;::a" 4 e e ; :: g E 51:: B 2:4 g :: A0 [ S 3 s 0125-0375 | 1.181 | 1.06 | M12x 1.7T5P 2
d i, o - . : = : . = . J .
e T - R e & S 44658 10450 | SCATS0 x SKS10 - 4.5 8.5 .1 4.00
44.653.56.400 | SCATSO x SLN3/8" - 47 0.781 1535 | 1.89 1 |am-24( 400 | = -
44.653.56.400 | SCATS0 x SLN1/2" - 4" 0.875 1732 | 208 | 125 |7/16-20| 4.15 A4.858.13.400 | SCATS0 x BIS1 - 4 B_| M | iz5-0500 | 1978 | 120 | mizn17ep |20
T oy 44.658.13.450 | SCATS0 x SKS13 - 4.5 8.5 324 4.00
44 653.61.400 | SCATS0 x SLNG/E" - 4 8 0,547 1,85 1.83 1.5 12-3 | 430 St b pdinclBl i ol e B b sl e ol ] [ o e —
T 44.658.16.400 | SCATS0 x SKS16 - 4" B 2.05 4.00
44 653,64 400 | SCATS0 x SLNI/E" - 4 1 1.829 1.85 1.75 =8 - 18 435 . 0125 ~0625 | 1574 | 1.57 | M1 x 1.50
44 653.66.400 | SCATS0 x SLN7/B" - 4° 1063 | oa7s | 236 | 243 1.88 5.30 44.6508.16.450 | SCATS0 x SKS16-4.5 8.5 2.55 4.15
44 653 BA.A00 | SCATS0 x SLN1" -4 256 55 a 550 44 658.20.400 | SCATS0 x SKS20 - 4 = . Tl e | e (| e 4.00
44.653.72.400 | SCATS0 x SLN1-1/4" - 47 o : 25 i |- BB 44,658 20.450 | SCAT50 x SKS20 - 4.5" 3 4.15
44 65372460 | SCATS0 x SLN1-14"- 46" | : 2756 | 31 25 5.70 44 B58.25.400 | SCATS0 x SKS25 - 4" B 218 | i | aoa ] 240 | Honc2ne 4.20
44 653,77 460 | SCATE0 x SLM1-1/2" - 4.87 ) 3.14 570 44 BRE 25 450 | SCATEHD x SK525 - 4 5" 85 2 B8 : i ; ¢ e 4.40
44 §53.86.600 | SCATS0 x SLNZ" - 6 10 1335 | 141 | 3347 | 448 | 375 | 1-14 | 590




SCAT / SK3

AnoRud

_\_\_‘_‘—\—\_

————

]

= 1
Tl

L |

» The length of SK3 clamping nut is longer and the front
thread of SK3 collat chuck is designed with an O-ring,
which prevents coolant fluid and metal chips from getting
into the boal holder.

e Applicable collet SYIC-18302~-5%1C-18310 SKS collet.

= SK3 is exchangeable with ather brands of SKS collets on

the markat.
» Slandard revolution: G2.5 25 000rpm, with an inspection
resprort.
INCHES
MOD TYPE SIZE LA'AEIIII-I'I'
43.763.06. 350 SGCAT40 x SK306 - 3.5 6,187 | 1.438 1.05
D.748 | O.787 | MB x1.25P |0.0825 - 0.1873
43 TE3,06. 400 SCATA0 x SK306 - 4° 6.687 | 1.938 1.65
43.763.10. 350 SCATA0 x K310 - 3.5" 6.187 | 1.6827 1083 | 1.083 0.1250 ~ D.3760 1.05
43 76310400 SCATA0 x SKI10 - 47 B.68T | 2127 : ' M2 x 1.75F j ; 1.65
43.763.12.350 SCAT40 » 5K313 - 35" 6.187 | 2.004 1330 | 1,384 % 0.1250 ~ 0.5000 1.05
43,783 12,400 SCATA0 x SK313 - 47 68.887 | 2.504 : 1.65
43 783.16.350 SCAT40 x K316 - 3.5" 6.187 | 2.034 1.35
1.575 | 1.594 | M18x 1.5P |0.1250 - 0.6250
43 763, 16.400 SCATA0 x SK316 - 4° G687 | 2.5 2.0
44 783.08. 360 SCATS0 » 5K306 - 3.5" T.5 1.728 .60
Tar i - 01875 —i
44 TED.06.400 SCATS0 x SK306 - 47 1] 2.228 0.760 | DIET [ ) 00520~ 01870 4.00
44 7B 10.400 SCATS0 »w SKIN0 - 4 L] 2.228 1063 | 1.083 0.1250 ~ 0.3750 .80
44 7B 10.450 SCATS0 x SK310 - 4.57 85 | 2115 M12 x 1 75P 4.00
44783, 13,400 SCATH0 » 5K313 - 47 B 2.425 ' 3.B0
1.338 | 1.354 0.1250 ~ 0.5000
44 TEI 13,450 SCATS0 x SK313-4.5" 85 | 2925 4.00
T L) = 4" 71
44 TEI 16400 SCATH0 x SK3NE - 4 8 1.8 1575 | 1804 | miBx 18P |0.1280 - 0.6250 4.00
44,7653, 16.450 SCATS0 X SK316 - 4.5" B& | 2371 4.15

SCAT

sudnnal 1aflwyadl adal Lert, Piboon Steel Ltd!, Part.

HWETRIC
MODEL MO, TYPE PSC NO. L ] dh
43.501.32.035 | SCATA0 x PSC3E - 36 PSC 32
43507 400035 | SCATAD x PSCA0 - 35 PSC 40 103,249 35 44.45
43.501.50.025 | SCAT40 x PSC50 - 35 P3C 50 X
43.501_63.080 | SCAT40 x PSCE - Bl PSC 63 158.248 &)
44,501 320256 | SCATSD x PSCA2 - 35 PSC 32
44.501 400025 | SCATS0 x PSC40 - 35 PSC 40
dd. 501 500025 | SCATS0 x PSC50 - 35 PSC 50 Lo - i
A44.501.63.025 | SCATS0 x PSCE3 - 35 PSC 83
INCHES
MODEL NO. TYPE PSC NO. L I d:
SHLOULESAD0 | SCATRO X PRCES -4 | B N SN, SN
44,501.63.600 | SCATS0 x PSCE] - 6 9.25 6
44,5071 63800 | SCATSD x PSC6E3 - A7 PSC 63 11.25 B 27D
44.501.63.100 | SCATS0 = PSCE3 - 10° 13,25 10
44.501.63.120 | SCATS0 x PSC6EI - 127 15.25 12




	01
	02
	03
	04
	05
	06
	07

